
2 Match the questions and answers. 
 a) Where did Shrek find Arthur?  

 b) Did the villains help Prince Charming?  

 c) Who can do magic? 

 d) How did Shrek go over the sea? 

 e) What frightens Shrek?  

 f) What happened to Fiona’s dad? 

 i) By ship.

 ii) In the school.

 iii) He is going to be a father.

 iv) He died.

 v) Yes, they did.

 vi) Merlin can.

1 True (✓) or False (✗)? Write in the box.
 a) Prince Charming wanted Shrek to be King.  

 b) The villains were nice people.  

 c) Shrek didn’t like being King. 

 d) The King had an heir.  

 e) Donkey has children.  

 f) Snow White helped Prince Charming.  

✘

ii

After you read
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Where’s the popcorn?
Look in your book. Can you find it?

1 Write the words in the crossword. 

  Across

 2) Shrek is going to die in Prince Charming’s horrible 

................

 3) The magician used ....................

 4) The ship has ....................  in it.

 5) Shrek thought: ‘Me? A father? ..........................’ 

(2 words)

  Down

 1) Arthur was King of ........................................

 2) They went over the water in a  ................

 3) Who can do magic? ........................

F
A
R
F
A
R
A
W
A
Y

Puzzle time!
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